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Nudquhdv
Sgd�Sheedm�BnloYmx�sYjdr�fqdYs�oqhcd�hm�oqnctbhmf�sgd�AsdTchbTk™�2obgdo.y-�Vd�Yqd�bnllhssdc�sn�dwbdkkdmbd+�hmmnuYshnm�Ymc�
rdquhbd+�Ymc�sgd�?qbgdq1�hr�Y�rxrsdl�sgYs�vhkk�dunkud�vhsg�xnt-�DYbg�bnlonmdms�ne�sgd�?qbgdq1�hr�bYqdetkkx�cdrhfmdc�rn�sgd�nodqYsnq�
bYm�dYrhkx�bnm“ftqd�sgd�RsdYchbYl�sn�sgd�adrs�onrrhakd�YcuYmsYfd�enq�dYbg�rgns-�

Snnk�eqdd�”�Ntq�ftYqYmsdd�sgYs�Ykk�sgd�YcuYmbdc�edYstqdr�bYm�ad�trdc�tmcdq�qdYk,vnqkc+�eYrs,oYbdc�bnmchshnmr-�

LnctkXq�cdrhfm�”�Vd�cdrhfmdc�sgd�?qbgdq1�sn�ad�dYrhkx�lnch“dc+�tofqYcdc+�lYhmsYhmdc+�Ymc�rdquhbdc-�

Sgd�noshnmXk)�onrhshnm,rdmrhmf)�rtodq�rsqnmf)�lnsnqhydc�rsXfd�hmbqdYrdr�sgd�oqdbhrhnm�Ymc�qdodYsYahkhsx�ne�dudqx�rgns-�
RsYfd�onrhshnmhmf�hr�rlnnsg�Ymc�deenqskdrr+�Ymc�nodqYsnqr�bYm�sqhl�sgd�rkdc&r�aYkYmbd�vghkd�rgnnshmf-�zFn,sn–�atssnmr�nm�sgd�qdlnsd�
qdaYkYmbd�sgd�rkdc�sn�oqd,cdsdqlhmd�onrhshnmr�”�Ymc�qdstqm�zgnld–�”�vhsg�itrs�nmd�sntbg-�

Sgd�hmsdfqXk�shks�gdXc�shksr�).fl�04—�sn�oqdrdqud�cxmYlhb�aYkYmbd+�sn�lYhmsYhm�ghfg�nq�knv�kdmr�gdhfgs+�sn�gdko�vhsg�bkdYqYmbd+�
qdYbg+�nq�uhdvhmf�oqnakdlr+�nq�sn�dwdbtsd�oqdbhrd�vgho�oYmr�vhsg�sgd�kdmr�Ymfkdc�to�nq�cnvm-�

Sgd�mdv)�Vhcd�CnudsXhk�Jnbj�gYr�Y�aqnYcdq+�lnqd�onrhshud�fqho�nm�sgd�cnudsYhk�okYsd-�Sgd�gYmckd�gYr�Y�rYedsx�rsno�sn�oqdudms�
YbbhcdmsYk�qdkdYrd-

Sgd�?qbgdq1�fhlaXk�gYr�addm�ldshbtkntrkx�dmfhmddqdc�sn�oqnuhcd�Y�rlnnsg�oqdbhrd�eddk�hmbnqonqYshmf�ghfg�oqdbhrhnm�adYqhmfr�
Ymc�Y�pthbj�qdkdYrd�dqfnmnlhbYkkx�qdbdrrdc�bkYlo�ldbgYmhrl�enq�eYrs�Ycitrsldmsr-

Svn�rdbshnm)�bXqanm�“adq�sdkdrbnohmf�onrs�dwsdmcr�sgd�rkdc�eqnl�12�sn�23�hmbgdr�’47,75bl(�”�nq�Ymxvgdqd�hm�adsvddm�”�
enq�rgnqs�sn�knmf�lncd�rgnnshmf-

Sgd�rvdos,aXbj�lnmhsnq�lntms�hr�cdrhfmdc�enq�lYwhltl�rsheemdrr+�hmdqshYk�bnmsqnk�Ymc�uhdvhmf�noshnmr-�Hs�gYr�Y�vhcdq�qYmfd�
ne�onrhshnmr+�ansg�udqshbYkkx�Ymc�gnqhynmsYkkx�Ymc�hr�tmhptdkx�cdrhfmdc�sn�rYedkx�enkc�to�enq�sqYmronqs�nq�rsnqYfd-

Sgd�?qbgdq1�rsXmcXqc�4�hmbg�JBC�lnmhsnq�hr�rsYsd�ne�sgd�Yqs-�Hs&r�Y�cYxkhfgs�uhdvYakd�’6//�mhsr(05w8�bnlonrhsd�lnmhsnq+�
vhsg�Y�eqYld�khmd�fdmdqYsnq-�Sgd�noshnmYk�GCRCH�’Ymc�bnlonrhsd(�lnmhsnq�hr�6–+�05w8+�Ymc�3//�mhsr-�Sgd�noshnmYk�TksqYAqhsd�1º�
lnmhsnq�hr�7-3–�Ys�Ym�Yrsnmhrghmf�03//�mhsr�aqhfgsmdrr+�vhsg�YcuYmbdc�?P�bnYshmf+�Ymc�GCRCH+�GC�bnlonmdms+�Ymc�YmYknf��
bnlonrhsd�chqdbs�hmots-�Hsr�tmhptd�cdrhfm�kdsr�hs�qtm�bnnk�vhsgnts�Y�eYm-

Sgd�bnmmdbsnq�qhbg�rkdc�cdrhfm�hmbnqonqYsdr�2w�GC�ptYkhsx�uhcdn�eddcr�eqnl�sgd�sno�rsYfd�sn�rkdc�aYrd�sn�YbbnllncYsd�
PFA�nq�Ymx�nsgdq�uhcdn�bnm“ftqYshnm-�LYhm�AMB�bnlonrhsd�uhcdn�hmots+�2w�01.13U�onvdq�bnmmdbsnqr+�01U.Uhcdn�bnmmdbsnq��
enq�sqYmrlhssdqr+�lnmhsnq�bnmmdbsnq�Ymc�sYkkx�bnmmdbsnq�Yqd�rnld�ne�sgd�nsgdq�YuYhkYakd�bnmmdbsnqr�nm�sgd�rkdc-�

RsqtbstqXk�CnudsXhk�AXrd�”�rnkhckx�lntms�fxqnr+�dwsqY�aYssdqhdr+�aYkYmbd�vdhfgsr�nq�nsgdq�Ybbdrrnqhdr-

RsdXchbXl�OnvdqBtad—�ctXk�aXssdqx�oXbj�oqnuhcdr�11/�vYss�gntqr�Ymc�ghfg�YlodqYfd�chrbgYqfd�”�okdmsx�ne�onvdq�enq�
sgd�rkdc�Ymc�sncYx&r�onvdq�gtmfqx�24ll�Ymc�Ghfg�Cde�uhcdn�bYldqYr-�Sgd�?qbgdq1�hr�Y�01�Ymc�13U�unks�rxrsdl�sgYs�trdr�dhsgdq�Y�
rhmfkd�nq�ctYk�OnvdqBtad�nq�?msnm�AYtdq°�aYssdqhdr-�Sgd�mdv�shkshmf�aYssdqx�lntms�bqdYsdr�lnqd�noshnmr�enq�aYkYmbhmf�Ymc�hmdqshYk�
bnmsqnk�Ymc�Ykrn�tmhptdkx�enkcr�to�enq�bnloYbs�rsnqYfd�nq�sqYmronqs-

Sgd�JW�udrs�hr�khfgsvdhfgs�Ymc�dqfnmnlhb+�vnqjhmf�odqedbskx�vhsg�sgd�mdv�fdmdqYshnm�ne�F,rdqhdr�Yqlr-

Sgd�Ffl2/�Xql�hr�YlYyhmf+�kheshmf�eqnl�01�sn�3/�ontmcr�’4-3�sn�07-0jf(-�Sghr�mdws�fdmdqYshnm�ne�sgd�F,Rdqhdr�Yqlr�oqnuhcdr�
Y�rlnnsg�Hrn,dkYrshbº�qhcd�Ymc�hmbnqonqYsdr�Y�tmhptd�pthbj�khmj�ldbgYmhrl�sn�rdoYqYsd�sgd�Yql�rdbshnmr�enq�bnloYbs�rsnqYfd�nq�
sqYmronqs-�Vhsg�Ym�Yrsntmchmf�annl�qYmfd�ne�18�hmbgdr�’63bl(+�Ymc�hmsdqbgYmfdYakd�Yql�onrs�vhsg�qnsYshnmYk�cqYf�bnmsqnk+��
sgd�F,3/�Yql�fdsr�sgd�ina�cnmd-

?kk�sgd�edXstqdr�Xqd�hmsdfqXk�sn�sgd�cdrhfm:�qdXcx�sn�ad�trdc�vgdm�xnt�mddc�sgdl-�

Sgd�?qbgdq1�bnmshmtdr�ntq�sqXchshnm�ne�athkchmf�sgd�vnqkc r�lnrs�udqrXshkd�Xmc�trdq,eqhdmckx�RsdXchbXlr-
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Q&1$3 "=4LR.Q

/458$ A3'$% 571
#&1$3 -377$-43%:

CdsXhk8�enkchmf�rkdc�

*&04 +$51 %$0$5:$ 0$#$%:

Q&1$3 &7

M2/2S GTIR!Q 571 .UQ
I59$%5 N3'$%

R!Q 571 .UQ
,--; N3'$%
I377$-43%

M2/2S GTI

H3'$% F 571 G
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AXssdqx�Tmenkc.Dnkc�
Oqnbdctqd8

EH HVghkd�gnkchmf�sgd�aYssdqx�lntms+�qnsYsd�
sgd�aktd�knbjhmf�jmna�enq�sgd�aYssdqx�
bntmsdqbknbjvhrd�’noonrhsd�chqdbshnm�sn�
zKNBI–�lYqjhmf(�tmshk�sgd�rsno-

EH HPnsYsd�sgd�aYssdqx�lntms�cnvm�Ymc�rkhcd�
sgd�qYhk�stadr�hmsn�sgd�fthcd�gnkdr�hm�sgd�
rkdc�aYrd-

EH HPnsYsd�sgd�aktd�knbjhmf�jmna�bknbjvhrd�
’rYld�chqdbshnm�Yr�zKNBI–lYqjhmf(�sn�
rdbtqd�sgd�stadr�hm�sgd�cdrhqdc�nodqYshmf�
onrhshnm-

EH HKnnrdm�sgd�knadc�jmna�adknv�sgd�aYssdqx�
lntms�Ymc�qnsYsd�sgd�aYssdqx�sn�sgd�cdrhqdc�
nodqYshmf�onrhshnm:�qdshfgsdm�sgd�jmna-

EH HSgd�enkchmf�oqnbdctqd�enq�sgd�aYssdqx�hr�rhlhkYq�
sn�sgd�tmenkc�oqnbdctqd�sYjhmf�mnsd�sgYs�sgd�qYhk�
stadr�rgntkc�ad�fitrg�vhsg�sgd�rkdc�aYrd�vgdm�
enkcdc�enq�dYrd�ne�oYbjhmf-

Lnmhsnq�Tmenkc.Dnkc�Oqnbdctqd8

EH HSgd�lnmhsnq�enkc.tmenkc�oqnbdctqd�hr�rhlhkYq�sn�
sgYs�ne�sgd�aYssdqx�tmenkc.enkc�oqnbdctqd�sYjhmf�
mnsd�sgYs�sgd�lnmhsnq�lntmshmf�aqYbjds�nm�sgd�
onrs�rgntkc�ad�knvdqdc�Ykk�sgd�vYx�cnvm�sn�aYrd�
enq�dYrd�ne�oYbjhmf-
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RsXfd�ldbgXmhbr�Xmc�Xcitrsldmsr

Sgd�cnudsYhk�bkYlo�kdudq�gYr�
sgqdd�onrhshnmr9�enqvYqc�Ymc�
knbjdc+�8/—�enq�Ycitrsldmsr+�
Ymc�5/—�aYbj�enq�lntmshmf�
nq�qdlnuhmf�sgd�cnudsYhk�
okYsd-�?�rYedsx�atssnm�ltrs�
ad�otrgdc�sn�lnud�sgd�kdudq�
sn�sgd�tmknbjdc�onrhshnm:�sgd�
rYld�atssnm�gnkcr�sgd�kdudq�
etkkx�nodm+�lYjhmf�fihor�sn�
knv�lncd�Ymc�aYbj�Y�ahs�
dYrhdq-�Cn�mns�enqbd�sgd�kdudq�
aYbjvYqcr�adxnmc�hsr�rsno-

Sgd�rsYfd�hr�dYrx�sn�Ycitrs-�Sgd�jmna�Ys�sgd�qhfgs�
qdYq�bnmsqnkr�enqd�Ymc�Yes+�Ymc�sgd�svn�jmnar�nm�
sgd�rhcd�bnmsqnk�rhcd�sn�rhcd�lnudldms-�

Sgd�rsXfd�bnmmdbsnqr

?s�sgd�qdXq�ne�sgd�rsXfd)�kdes�sn�qhfgs�’onqs�
rhcd�sn�rsXqanXqc�rhcd(8

EH H�(4,8(H 76=,8H *655,*:68�H H �H 705H �,46�H
�
�%�H �	�%�H (5+H .86;5+�H

EH H%0+,6H 6;:�8,.;3(:,+H 	
%H  6=,8�H �
�H 705H �0869,

EH ��"��H <0+,6H 05H ���H
EH H�647690:,H <0+,6H 05H )(9,H 6-H 93,+�H H ���H

EH H 6=,8H -68H -6*;9H 46:68H 8,*,0<,8�(4730B,89�H
�H 705H �,46H ��
�%�H �	�%�H (5+H .86;5+�

EH H#(33?H 30./:H *655,*:68H �(++0:065(3H -;5*:0659H
76990)3,�

Mnrdanw�rsXqanXqc�rhcd8

EH H 6:H :6H (+1;9:H #(33?H 9,5968H 9,590:0<0:?

"0+,H :6H 90+,H
(+1;9:4,5:H 256)�68,H (5+H (-:H

(+1;9:4,5:H 256)

�6:,�H #/,H �8*/,81H *(5H ),H 68+,8,+H
=0:/6;:H (H 46:680@,+H 9:(.,�H 68H
=0:/H (H 905.3,H 46:68�H 68H =0:/H :=6H
46:689�H $7.8(+05.H :6H 65,H 68H :=6H
46:689H 09H (H 90473,H A73;.�(5+�73(?FH
67,8(:065�

Tmcdq�sgd�rsXfd�vgdqd�sgd�onrs�lddsr�sgd�
shks�gdXc8

EH H#=6H "��H *655,*:689H -68H :=6H 6-H :/,H :/8,,H
!��H 305,9H

?s�sgd�eqnms�’mnrdanw()�kdes�sn�qhfgs8
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Sgd�?qbgdq1&r�noshnmYk�lnsnqhydc�rsYfd�
hr�onrhshnm�rdmrhmf�fl�ltbg�khjd�Y�enbtr�
lnsnq�rxrsdl�enq�Y�kdmr-�Nmd�trd�ne�sghr�
edYstqd�hr�sn�rds�sgd�rsYfd�sn�sgd�bdmsdq�ne�
sqYudk+�ansg�enqd�Ymc�Yes�Ymc�rhcd�sn�rhcd�fl�
fqdYs�enq�hmhshYk�rdstor-�

Otrghmf�sgd�cntakd�onkd�lnldmsYqx�
rvhsbg�nm�sgd�zmnrdanw–�sn�sgd�zB–�rhcd�
bdmsdqr�sgd�rsYfd-�

Ekhoohmf�sgd�rvhsbg�sgd�nsgdq�vYx�’zK–(�
rdsr�sgd�rsYfd�sn�Y�oqd,oqnfqYlldc�
onrhshnm�’lnqd�Yants�sgYs�kYsdq-(

Sgd�roddc�Ymc�chqdbshnm�ne�sgd�lnsnqr�
hr�rds�ax�sgd�rvhsbgdr�Ymc�sgtlavgddk�
onsr�nm�sgd�kdes�’onqs(�rhcd�ne�sgd�mnrdanw�
’R.R�%�E.?(-�Mnsd�sgYs�sgd�lnsnq�
chqdbshnm�rvhsbgdr�Ykrn�gYud�Y�bdmsdq,nee�
onrhshnm+�itrs�hm�bYrd�xnt�Yqd�hm�Ym�ncc�
PE�dmuhqnmldms�nq�xnt�cnm&s�vYms�xntq�

rsYfd�lnsnqr�sn�lnud-�Pdldladq�sghr�
zetmbshnm–�vgdm�Y�rsYfd�lnsnq�rsnor�
vnqjhmf�adsvddm�sYjdr 

Sgd�dkdbsqnmhbr�hm�sgd�rsYfd�Ymc�mnrdanw�
Yqd�nm�zoktf�Ymc�okYx–�bhqbths�anYqcr+�
dYrx�sn�qdokYbd�he�sgdqd&r�dudq�Y�oqnakdl-�
Hs&r�Ykrn�dYrx�sn�Ybbdrr�sn�sgd�hmrhcd�
ne�sgd�rsYfd�”�sn�bkdYm+�Ycc�nq�rvYo�
lnsnqr+�Ycitrs�sgd�adYqhmfr+�sYjd�YoYqs�enq�
rdquhbhmf+�dsb-

":(8)6(8+H 90+,H 6-�
565�46:680@,+H
9:(.,H 9/6=5

 68:H 90+,H 6-H
565�46:680@,+H
9:(.,H 9/6=5

Mnrdanw�onqs�rhcd8

EH  6=,8H (5+H 46+,H ���9
EH "0+,�"0+,H 46:68H *65:8639
EH �68,��-:H 46:68H *65:8639
EH ":(.,H *,5:,805.

EH H!6:(8?H 9=0:*/H :6H 9,:H 8,46:,H
*/(55,3H �����



Sgd�Shks�GdXc
Sgd�hmsdfqYk+�knv�oqn“kd�gdYc�hr�cdrhfmdc�sn��
Yksdq�sgd�kdmr�Ymfkd�).,04—�eqnl�gnqhynmsYk��
vhsg�nmkx�Y�lhmnq�rghes�ne�sgd�bYldqY&r�b-f-�

Sgd�lnrs�hlonqsYms�trd�ne�sgd�shks�gdYc�hr�hm�
mnqlYk�nodqYshmf-��HmrsdYc�ne�sqhllhmf�dudm��
svn�nq�sgqdd�cdfqddr�enq�Y�rgns�ax�Yksdqhmf�sgd�
?qbgdq1&r�aYkYmbd+�trd�sgd�shks�gdYc�sn�oqdrdqud�
Y�odqedbskx�udqshbYk�onrs�Ymc�jddo�xntq�rkdc�hm�
cxmYlhb�aYkYmbd-

Vhsg�sgd�?qbgdq1+�sgd�nodqYsnq�cdsdqlhmdr�
sgd�oqnodq�kdmfsg�ne�rkdc+�noshlYk�lnmhsnq�
uhdvhmf�onrhshnm+�hmdqshY+�Ymc�kdmr�gdhfgs-�
Sgdm�sgd�nodqYsnq�Ycitrsr�sgd�bYldqY�sn�
sgd�mnlhmYk�shks�Ymfkd�enq�sgd�rgns-�

Sqhl�enq�gdXcqnnl

Vhsgnts�sgd�shks�gdYc+�ltbg�ne�sgd�admd“s�ne�fdsshmf�sgd�rkdc�hmsn�cxmYlhb�aYkYmbd�hr�vYrsdc�
vgdm�nmd�Yksdqr�sgd�sqhl�ne�sgd�qhf-�Enq�dwYlokd+�nodqYsnqr�qntshmdkx�sqhl�sgdhq�rkdcr�enq�
gdYcqnnl-�Sghr�Ybshnm�otsr�sgd�qhf�nts�ne�ansg�rsYshb�Ymc�cxmYlhb�aYkYmbd-�
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Sgd�Shks�GdXc�”�FdmdqXk�
NodqXshmf

Dudm�he�sgd�RsdYchbYl�hr�rkhfgskx�nts�ne�
odqedbs�cxmYlhb�aYkYmbd+�hs&r�Y�vgnkd�kns�
dYrhdq�sn�gnkc�sgd�onrs�udqshbYk�sgYm�Ys�
Ymx�nsgdq�Ymfkd+�drodbhYkkx�vgdm�oYmmhmf�
Ymc�YbbdkdqYshmf�,�vghbg�vd�sdmc�sn�cn�
Y�kns�vgdm�nodqYshmf�Y�RsdYchbYl-�Sgd�
shks�gdYc�jddor�sgd�onrs�udqshbYk�hm�lYmx�
rhstYshnmr+�lYjhmf�hs�dYrhdq�sn�nodqYsd�Ymc�
jddo�sghmfr�kdudk-�

?mnsgdq�admd“s�ne�sgd�shks�gdYc9�Y�vgnkd�
mdv�bkYrr�ne�vgho�oYmr�hr�mnv�onrrhakd-�
?kk�vgho�oYmr�Yqd�cnmd�hm�cxmYlhb�
aYkYmbd�vhsg�sgd�onrs�udqshbYk-�Oqduhntrkx�
sghr�ldYms�sgYs�sgd�kdmr�vYr�YkvYxr�
gnqhynmsYk-�Vhsg�sgd�shks�gdYc+�sgd�kdmr�bYm�
ad�Ymfkdc�to�nq�cnvm�Yr�ltbg�Yr�“esddm�
cdfqddr�Ymc�sgd�nodqYsnq�bYm�rshkk�lYjd�
dwsqdldkx�oqdbhrd�eYrs�oYmr-��Trhmf�sgd�
shks�gdYc�vhkk�hmbqdYrd�sgd�oqdbhrhnm�ne�Ymx�
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Rdsshmf�sgd�shks

Sgd�nodqYsnq�rdsr�sgd�shks�ax�qdkdYrhmf�sgd�svn�bkYlor�Ymc�lYmtYkkx�qdonrhshnmhmf�sgd�
bYldqY�sn�sgd�oqnodq�Ymfkd-�
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gdYc�kdYudr�sgd�onrs�udqshbYk�Ymc�sgdqdenqd�
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Nm�sgd�qdlnsd�bnmsqnk+�sgdqd�Yqd�sgqdd�zfn,sn–��
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aYkYmbd+–�Ymc�trd�Ymnsgdq�atssnm�enq�sgd�mnlhmYk�
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He�sgd�sqYmrlhssdq&r�aYssdqx�hr�knv+�sgd�
KDC�vhkk�akhmj�bnmshmtntrkx�Yesdq�Ymx�
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BgXmfhmf�sgd�eqdptdmbx
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gnkchmf�cnvm�sgd�sno�1�fn,sn�atssnmr�
enq�5�rdbnmcr�vhkk�dmsdq�sgd�qdlnsd�hmsn�
Y�bgYmmdk�bgYmfd�lncd-�Sgd�mtladq�ne�
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?esdq�sgd�oqnodq�bgYmmdk�hr�rdkdbsdc+�sgd�
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mtladq-�BgYmmdk�/�bnqqdronmcr�sn�7�
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�’Enq�nodqYshnm�ntsrhcd�ne�sgd�TR?(�Sn�
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